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Rabi Yossi follows his ruling — 7ONPYY o0 92N

OVERVIEW

717 "27 explained that the reason "0 " argues with n"7 and maintains that we
cannot derive from 73"on" that we can burn 7770 72170 (which 1s 13127772 770R)
together with XY 21N, is because in the case of 7"on7 the XML 7212 RPVIV W2
became X&nv through contact with 7"Xnv Ppwn which (according to *01° ') are Xnvn
XN»X72 (as opposed to n"7 who maintains that X Rnavh Ppwn DRMY is only
11277). Therefore we cannot derive an 1312772 MOX from a XNMMIXT AXmw. Our
mooin clarifies what exactly is the view of *01° "1 (and 1n'").

MooIN asks:
- 11):1‘1‘1 09NN NNPLY PPPYN NNV (3,0 97 PY NPY 5PN 1991) Y0 29 nup

There is a difficulty, for later "oy ' actually maintains that X»ub Ppwn nR2W

29X is only 333972 (and not RN»MRTA) -
= NPYLY NY 1PN) "mx 129 N2*PY 229 NOVIYI RNMIINT NoN 799 NINT NMY

And this which " maintains here that DR Xavb PPwH DR is KNMIRT, he
said that according to the view of his master ¥''9, but this cannot be considered
7YY of >"3. Why does the Xn3 say mnyn? >"?!

moo1n asks an additional question:
= 9N NIPY 2297 NDUN Y017 2297 1193 PPN NN NYP T

And there is an additional difficulty; what is the dispute between »"7 and "7,

since ''1 is saying that according to ¥''9 that 21X XnvY PPwWH DRIV is XN™IINT -
= RIOIINT 09NN NNPVY PPYWN NAPY 22959 9NN 229 NN 1PN )

So does not »'1 agree that according to ¥ the rule is that 2R Kuwbh PPw» is

RNDINT -
- N2OPY 229 W7 *01%3 927 NYNNA RNV NNV NYTNA YT NIYPY 529 NN

Since regarding ‘that day’ where ¥'"9 expounded, ectc., ¥'"9 explicitly
expounded X% to mean R%W3, meaning that RN™IRT 2°INR XPL? PPWH.

madIn answers:

! X127 there cites X271 who stated ¥"3 7% 720 °01 ' X; indicating that according to 2™nX Xnu? PPwH NXMY *" is only
112772. See ‘Appendix’.
% See the X m3 there on 2, where it states; "0 89 91 79K 127 " norwa >
3 ova 12 refers to the day when they appointed 719 12 199X "1 to be the X°wi. See “Thinking it over’ # 1.
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= 9NN 2399 1D X920 DYIYWITM G0 13929 290 XM
And 2%5wy99% 7oy 27 answered that %' maintains -
- “9wan 1990 PPYN 233 2N NPT

That the word x»wd, which is written regarding °pw», refers to w7 -
- SWHY NYIY 23T “NPVY PYIN 233 KISPY 539 W11 NY RPAY “ANMIV YaP1nT NPUm

And according to n"1, we derive that 7pw» is 8% H2p» since ¥'"2 expounded
regarding 17 that a "1 can make a "2 even by P -

:9PWUN 13997 27099 Y >YHY 59N NNV HAIN PN NNIYY 391Y 1P9INA)
And regarding 17717 all agree that %238 cannot be 228 X»w», perforce we must
conclude that the Y@ @ is J°pwn. This proves that 7pwn can be axmY 2apn.

SUMMARY
There is a dispute as to whether ¥"9 maintains Xn>7K7 2°IR XAL? Ppwn (the view
of *01° ") or whether it is 13277 (the view of »n'"9).

THINKING IT OVER
I. Moo in the question assumed that everyone (including »"7) agrees that
according to ¥"1 the rule is XN 7IRT D°IAR? PPWH NRAW (since he expounds Rnw
xnv).'" Why then was it necessary for X271 previously'' to (merely) infer from our
mawn that ¥") maintains RN™MIRT DR XAV PPwn DRPW, when it is so explicit
according to mpoin?!'

* qwsn means that it is prepared or fit to be axmv 22pn. We derive from the P10 of Xxw® "1 apwn 921 that in order for
79X to be XML Papn they must first be in contact with 1°pwn. This 109 is not referring to the Ixmw of Ppwn, but
rather to the w27 of 1°Pwn so that the 195X can be R Yapn.
> According to n"1 the only axmw of Ppwn (even according to ¥"7) is jAXy NXMIY, but 7PwH cannot be 2 X XnLA
xn»7R. However, °01 " disagrees. This is the np17nn between »" > (see footnote # 9). See ‘Thinking it over’ #
2.
% He derives it from the words Xat> 131 %2187 22, and interprets X2u° to mean Xnv> See footnote # 18.
7 See the X3 on X, 7 where we derive this from the P09 (in 12,8’ [>1nw] X7p"1) which states X7 810 121 307 000,
¥ A person or a *»3 which comes in contact with an Xm0 28 becomes a WX, when in turn they touch Y23 or pwn
it becomes a 1. There can be no *w°%w 92 regardless whether it touched 1w 92 (since 92 RXnvn 99R P°X) or
whether it touched °pwn (since [according to "] we have no P09 for 0K &b 1pwn). The only way there can be
a whw is if the 1w 991X touches 1"pwn which become *w>2w 1pwn. This proves that 1"pwn can be AR 23pn0.
? This seemingly only answers the second question of Mo (the wp Tw). See however X" who explains that
since »"9, when he rules that 2R XYY PPWH ARMV is 13277, is discussing (even) the view of ¥"3, therefore we are
justified to say mnyv? *ov " since he is disagreeing with n"- regarding the view of ¥"1 and maintains that nxmw
DR RNV PPWnA is RN™IIRT. See however w1 IR and X NoW (see also '> MR 231X NIAT).
10 See (the text by) footnote # 3.
o,
2 See 0% K.
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2. mpoIn concludes that " maintains according to »"9 that DR RXnPYY PPWH is
11277.° However 21 previously stated that ¥"7 must maintain 22X X102 PPWA
xn»"x7. How can we reconcile this apparent contradiction?!"*

APPENDIX1'5

The o105 state'® regarding a YW (which is an axmwa 2X) that fell into a vessel
(which becomes a R™W% PWRI) that 13302 WK 95 1230 8 Ogn 290 WK w7 993 92) A
222 TDW W TRWH 22) XpY? 07 7Y RI) WK 20K WR 29X 2310 .72 .372WN INR) Rpp:
Xnw> °932. The simple reading of the 0’109 indicates that anything (including 1pwn)
which is in this "3 (where the yw fell in) becomes &av. It becomes a axmw» "w."”
However, ¥"1 goes a step further (according to °01 ") and maintains that the word
Xnt (even in the phrase of X *3 932 Anw” WX apwn 921)'° should be interpreted
xnp° (it can make others xnv);" meaning that if the "1w pwn touches food, the food
becomes a nRMLY WO (even by 1°71m). However, the other o°Xin disagree and
maintain that there is no 112 *ww; therefore they cannot agree with the w97 of
¥"7 that Xnv* means XnY°. According to these 2°Xin (including "1 °01° ') PWH can
(perhaps) be XnN»MKTA ARAIW 22pn, however it cannot be XN™RTA 2NKR RPWVA only
11277,

" See footnote # 5.
" See yorm o1
"% See footnote # 1. It may be helpful to read this first before continuing with the moon.
1099 35 %0 (1nw) X
7 It was in a "3 which is a IRMEY PWRA.
'8 All agree (even n") that according to ¥" it applies to the word Xnw> in Xnv> "3 931871 991 which refers to PR
that an 1w 921X can make a 72172 "w°7W (see footnote # 6).
1 Otherwise (if it cannot be 0™ X ®nwn) the 70 should have said X»v (not Xnv*).
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